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QUESTION 1

Examine this DECLARE section: 

Which line will cause an error upon execution? 

A. line 5 

B. line 3 

C. line 2 

D. line 4 

E. line 6 

Correct Answer: E 

 

QUESTION 2

Which three statements are true about Implicit Cursor and Explicit Cursor? (Choose three.) 

A. Implicit cursor returns only one record. 

B. Explicit cursor can return more than one record. 

C. %Isopen, %Rowtype, %Notfound, and %Found are the attributes of Explicit Cursor. 

D. %Isopen, %Rowcount, %Notfound, and %Found are the attributes of Explicit Cursor. 

E. %Isopen, %Type, %Notfound, and %Found are the attributes of Explicit Cursor. 

F. %Isopen is always false in Explicit Cursor. 

G. %Isopen is always false in Implicit Cursor. 

Correct Answer: BCG 

 

QUESTION 3
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Which two are true about exception handling? (Choose two.) 

A. Internally defined exceptions can be handled only by the OTHERS exception handler. 

B. All declared exceptions are raised implicitly by the runtime system. 

C. User-defined exceptions can be defined in the declarative part of any PL/SQL anonymous block, subprogram, or
package. 

D. Only predefined exceptions and user-defined exceptions can have a user-declared name associated with them. 

E. Predefined exceptions are globally declared in the standard package. 

Correct Answer: CE 

 

QUESTION 4

Which two are valid MODIFIER values for the PLSQL_WARNINGS parameter? (Choose two.) 

A. DISABLE 

B. ENABLE 

C. ERROR 

D. ALL 

E. SEVERE 

Correct Answer: DE 

 

QUESTION 5

Examine these statements: 
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Which two are true? (Choose two.) 
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A. Neither table will have a row inserted and committed. 

B. Both tables will have a row inserted and committed. 

C. The transaction for the bank_activity_proc is independent of the bank_transaction_proc. 

D. The bank_activity_proc will not compile because of the commit. 

E. Only one table will have a row inserted and committed. 

Correct Answer: CE 

 

QUESTION 6

Examine the EMPLOYEES table structure: 

Now, examine this code: 

Which statement is true about the result of executing this block? 

A. It will execute successfully provided the salary of EMP_ID 200 does not exceed the value 99999. 

B. It will return an error at line 2. 

C. It will return an error at line 3. 

D. It will return an error at line 8. 

E. It will execute successfully by rounding up the salary of EMP_ID 200 to the appropriate value. 

Correct Answer: A 

1Z0-149 VCE Dumps | 1Z0-149 Exam Questions | 1Z0-149 Braindumps                              5 / 13

https://www.leads4pass.com/1z0-149.html
https://www.leads4pass.com/1z0-149.html
https://www.leads4pass.com/1z0-149.html


https://www.leads4pass.com/1z0-149.html
2024 Latest leads4pass 1Z0-149 PDF and VCE dumps Download

 

QUESTION 7

Which is the correct method to implement a local subprogram in an anonymous block? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: A 

 

 

QUESTION 8

Examine these statements issued by user SH which execute successfully: 

DBMS_OUTPUT.PUT_LINE(p_price(i)); END LOOP; END; END products_pkg; / Now, examine this anonymous block
executed by SH: 

Which is true about the anonymous block? 

A. It will execute successfully only if PriceList is removed from the DECLARE section and defined as a standalone
collection type. 
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B. It will execute successfully only if PriceList is defined as an associative array in the package and anonymous block. 

C. It will fail at lines 6 and 7. 

D. It will fail only at line 7. 

Correct Answer: D 

 

QUESTION 9

Which is true about counter variables in a FOR loop? 

A. It must explicitly be declared. 

B. It can be modified in the body of the loop. 

C. It cannot be NULL. 

D. It is accessible outside the body of the loop. 

Correct Answer: C 

 

QUESTION 10

Examine the structure of the ora1.depts table: 

Now, examine these statements issued by user ora1 which execute successfully: 

Create or replace view dep_vu as select * from depts; 

Alter table depts add dep_email varchar2(20); 

Finally, examine this block of code executed by user ora1: 
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Which is true? 

A. DEP_VU must be manually recompiled to successfully run this code. 

B. It will run successfully producing a result of 4. 

C. It will result in an error because table depts has been altered. 

D. It will run successfully producing a result of 5. 

Correct Answer: B 

 

QUESTION 11

Which two are true about packages? (Choose two.) 

A. Variables and cursors defined in a package specification are visible to all subprograms in the same schema that has
the package. 

B. Modifications to a packaged procedure\\'s body automatically cause recompilation of subprograms that invoke the
procedure. 

C. Package specifications can be compiled without their bodies. 

D. Standalone subprograms that reference a package can be compiled only after both the package specification and
body are compiled. 
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E. A package definition must have a specification and body. 

Correct Answer: AC 

 

QUESTION 12

Which two PL/SQL elements can be deprecated using the DEPRECATE pragma? (Choose two.) 

A. PACKAGES 

B. VARIABLES 

C. ANONYMOUS BLOCK 

D. TRIGGER BODY 

E. DATABASE LINKS 

Correct Answer: AE 

 

QUESTION 13

Examine this table in the SH schema: 

Now, examine this code: 
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Which two changes are required to ensure that PDT_REPORT executes successfully? (Choose two.) 

A. In line 1, change IN OUT mode to IN mode. 

B. In line 2, change IN OUT mode to IN mode. 

C. In line 3, replace CUR_PRICE with P_PDT_PRICE in the query condition. 

D. In line 1, add the default parameter DEFAULT 2000. 

E. In line 6, replace P_PDT_PRICE parameter name with CUR_PRICE. 

F. In line 2, add the default parameter DEFAULT 2000. 

Correct Answer: BD 

 

QUESTION 14

Which three PL/SQL-only data types can be used in queries and native dynamic SQL issued from PL/SQL in the
server? (Choose three.) 

A. a record declared in an anonymous block 

B. a record declared in a procedure 

C. an associative array indexed by PLS_INTEGER 

D. a record declared in a package specification 

E. a predefined PL/SQL-only data type like BOOLEAN 

F. an associative array indexed by VARCHAR2 

Correct Answer: CDF 

 

QUESTION 15

Examine these statements from a block of code: Which two are true? (Choose two.) 
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A. The lock acquired when executing the OPEN c1 command will be released only after a COMMIT or ROLLBACK
statement is issued. 

B. Only the PRICE column can be updated in the PRODUCTS table. 

C. The FOR UPDATE OF clause can be used only if the WHERE CURRENT OF clause is used in the executable part
of the block. 

D. The WHERE CURRENT OF clause can be used only if the FOR UPDATE clause is used in the cursor definition. 

E. An OPEN c1 command will acquire a lock only on the PRICE column in the PRODUCTS table. 

Correct Answer: AD 
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